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General Instructions :
1.
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The question paper comprises of iwo Sections, A and B. You are to attempt both the
sections.

2. All questions are compulsory
3.
4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

All questions of Section-A and all questions of Section-B are to be attempted separately.

one word or in one sentence

. Question numbers 4 t0 6 in Sections-A are two marks questions. These are to be answered

in about 30 words each.

. Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answered in about 50 words each

. Quesiion numbers 19 to 24 in Section-A are five marks questions. These are to be

answered in about 70 words each.

. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each

question is of two marks.

Downloaded from http://jsuniltutorial.weebly.com/

Page No. 1




HMT-A / SECTION-A
1 39 o W geHIY forer 37 Sfiel i T S § S e SEsiese i 9w @ e & fog
T & |

Identify the category in which the organisms using carbon dioxide and water for making food
are placed.

2 frgrgedl w1 faeshal 39 Yo urgel, 58 4 s €9 8, @ uiadusd @ ger | Bra yar w5
B 772

How is the resistivity of alloys compared with those of pure metals from which they may
have been formed?

3 AR 9@ 1 T % O 59w R SR ol fodt T aerel @ am fafad aur v wedt 99 4 e
dieed (favarr) 1wy fafee

Name any one material used to make a solar cell and alsc mention the range of voltage
produced by a typical cell.

4 ey i & 8 t=2fbe g uR w1 Fta 22

Explain how an antacid works.
5 o1 /X’ 3 FeyO5 5 W SR STcaferss o it SR 30 3o Yo %1 vehat T ey o

ToRAT ST B | 9T X RT YN e sifufshan % e weite fafiag)
The reaction of metal "X" with Fe2O3 is highiy exothermic and is used to join railway tracks.
Identify the metal *X". Write the chemical equation of the reaction.

6 () e H ggee W e R a9 96T S g e wrAA & T ke
(i) ~ ERET=F 9 Trg Tk U w1 T faiaT) w8 uf g e gREm i we | S S e
T B E 2
(i) Name the hormones that are released in human males and females whentheyreach'

puberty.
(i) Namea gland assomated with brain, W]’uch problem is cause(i due to the deﬁaency of

the hormone released by this gland ?
7 et & @ wedsh & ford fordies 1 e foig ferfa

() U SerEits @ a0 U Serael oo

(i) ST HieT wer e W

iy SR drer Tan T URet

Write one point of difference between each of the followmg
(i) A hydrated salt and an anhydrous salt

(ii) Washing soda and soda ash

(iii) Baking soda and Baking powder
8 & FEeH AT H 2g WH Gtk ToReee i T TR

() o=t <1 Dl Bt ge SR

(iy o el stffseer 5 AW fafaw)

(i) =9 erfufsean o v Hwo fafag)

2g ferrous sulphate crystals are heated in a dry boiling tube,

Page 2 of 10

Downloaded from http://jsuniltutorial.weebly.com/ Page No. 2



JSUNIL TUTORIAL

(i)  List any two observations.
(ii) Name the type of chemical reaction taking place.
(iii)  Write the chemical equation of the reaction.
9 wt&ﬁwmmwaﬁaﬁﬁﬁﬁﬂﬁﬁ%ﬁa‘nmﬁﬁﬁaﬁﬁaﬁw%mmm%l
Describe an activity to find out the conditions under which iron rusts. ;

10 fr AR gl i

[ w T | o foremd | 9 foed | S
# faeas | w1 faem [EEEE
uHifesh 7
difsam ereiraEe
fshT drer
Complete the following table :
Sample solution Red litmus | Blue litmus Phenolphthalein
solution solution solution
Acetic acid
Sodium hydroxide
Baking Soda

11 @) Mﬁﬁm%ﬁﬂﬁﬂﬁraﬁ:maﬁks@ﬁwwﬁﬁmaﬂm:
(1) TRl = Ista Y S F
(i)  FoH8 = faRE e & v F am Wt 2
(i)  STEF ST TEETTR ek ¥ GRatad G € @i 98 S gaie kel

(b) A% T H e @ § qefem g e s o waha fafad |
. (a) Redraw the given diagram of neuron and label the parts :
(i) Which receive the information.
(ii)  Through which information travels as an electrical impulse.
(iii) ~ Where this impulse is converted into a chemical signal for onward
transmiission.

(b)  Mention any two signals which will get disrupted in case of spinal injury.
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Sty SiEl & Yo o wrelty Sal it e tfie Skt ¥ suw wRw fafed ) gee § TeEr
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The rate of breathing in aquatic organisms is much faster than that seen in terrestrial
organisms. Give reason. State the pathway of air from nostrils to the lungs in human beings.

SY GAN Sk 1 M fafgd St gaR IR H sAiedism 3R safere werd @ uRewd e ¥ 5w
e & Tl & W fafau | wEq E-sieaEe iR AEeE it %1 Hy w9 § ufEeT 2
€7

Name the connective tissue which transports food, oxygen and waste materials in our body.

Mention the components of this tissue. In which form are carbon dioxide and nitrogenous
wastes transported.

34 R & Tgid Bt ufadiesar uiefad S faast o ei 1 m, B 0.01 cm 991 9@y 20 3
21

Calculate the resistivity of the material of a wire of length 1 m, radius
0.01 cm and of resistance 20 ohms.

forelt T it et T e g O ) R e T S T Fvee ;
()  I-M0 T H FEATU: T T, A1 R THE Swent gd fgwm & Yarr 1 1@ ¥ 3R e
H gR e T § yenfed @ @ #)

(i) YE-REE T H FeEia: W@ Ry B8 Ui suel Yaor <o fam @ e @ e
Fueell H UR IHEd o § yenfed &1 @

(i)  foem: T ¥ SR Yaeh Huee &1 A Je0T FA W A7 a1 ¢ R FHoeed § uRy <o
feam & yanfea & @ §1

Find the direction of magnetic ficld due to a current carrying circular coil held :

(i) vertically in North - South plane and an observer looking it from east sees the current
to flow in anticlockwise direction.

(ii)  vertically in East - West plane and an observer looking it from south sees the current
to flow in anticlockwise direction.

(iii)  horizontally and an observer looking at it from below sees current to flow in clockwise
direction. -

TS & FAM H Al & e B FIsAl Hl AR A FA & T99 FUST bl FrIh Bt AR T
FC 79 off 1 gUeel 4 B R ARG @i ? 19 SR @t gfie SIS 39 ST weRtoll St ger

FifeTa |

In Faraday’s experiment if instead of moving the magnet towards the coil we move the coil
towards the magnet. Wwill there be any induced
current? Justify your answer. Compare the two cases.

HeT & <119 7 81 % AN 39 H W F A gge o MeR g 91 39S 39U o &1 Fiee &
YR | ST IR 7O e gl RS9 e | S, o 36 U veEa ¥ 98 gea foan e
o S 1 GEA wyifug e =ifey

(i) = e for=m @ Hied 1 Yae 3uged § 7 A I & fore 3feq wno fafey )

(i) WIS DA G TG Gl 5 e SR §2

Villagers in Mohan's village use their animal dung as dung cakes for fuel requirement. When
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Mohan returned to his village, after completing his studies from nearby city, he suggested in
village panchayat to set up a biogas plant in the village.
(i) Do you think Mohan's suggestion is appropriate? Give reason for your answer.
(i) ~ Which quality of Mohan gives inspiration to villagers?
18 ER S AW H SR SERE e & e § S Sl W w7 A s 3

Differentiate between the energy obtained by burning fossil fuels and that obtained as solar
energy.

19 (@) 0 fowra sifafman ueh Yetam SAfafshan 8 wehdl § 2 U S wftd qaeEd | 5
(b) T o gumEfes sfufen &1 ger fated
(i) T 3T a1 e § e
(i) R & R
(@)  Cana displacement reaction be a redox reaction ? Explain with the help of an example.
(b)  Write the type of chemical reaction in the following :
(i) Reaction between an acid and a base
(i) Rusting of iron
20 (@) [l @ 3 GTOR F F9 THS F TEd ¥ 67 T 7 RS o7 ¥ S@ll 5
SS9 1 FT F gl F vered R T 9 & umi H o ufteds e em?  srEeitea
yfadai & fad dyfera vamrafre geteon fafian
(b) s e H o o fafed fom w S e s = sedm anaife ®
() THTfASHFEIH
()  AfHT OSS F Hew FH T H
(a) A student dropped a few pieces of marble in dilute hydrochloric acid contained in a
test tube. The evolved gas was passed through lime water. What change would be observed
in lime water ? Write balanced chemical equations for both the changes observed.
(b)  State the chemical property in each case on which the following uses of baking soda
are based :
(i) as an antacid
(ii) . asa constituent of baking powder.
21 (1) URYEHH R &) AR IR F URY eHE H G SIRY| I €Al 1 el el g 5
2
(b) U WHA T4 FICI S 5ol Hl3 Il HLl Y YR HI GG T ¢ 7 WY H S HifeIg |
(a) What are phytohormones ? List four types of phytohormones. Where are these
hormones synthesised ?
(b) What happens when a growing plant detects light ? Explain in brief.
22 (a)  @iftrnmm yanfea form o & fog < ofodel 9 RQ MR, Q FT VAR emf F G F 5
Y fend YRR GRS s =fey ?
() T W H 100 9= TR F < eed gl 5 ¥ 2 aF W@ VW€,
50 912 Feeh o <1 9 SfafeT 10 S e S € 99 G 1.00 kW 1 form die wfafem sman
e Y@Er W ¥ X 360 ¥a  kWwh w0 ®w 0¥
31 fe7 & = o $o1 Sugsd Sl a1 Yoo uftesfera Sifsa)

(a) How two resistors, with resistances R;{} and R (] respectively are to be connected to a
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battery of emf V voltsso that the electrical power consumed is minimum?
(b)  Inahouse 3bulbs of 100 watt each lighted for 5 hours daily, 2 fans of 50 watt each used
for 10 hours daily and an electric heater of 1.00 kW is used for half an hour daily.
Calculate the total energy consumed in a month of 31 days and its cost at the rate of ¥
3.60 per KWh.
23 (@)  forera uftae # forga gfeai | wam &R < arel 18 < aean sue fafed )
(b) =R e wftae & erfaurer 1 Je7 & fore @@ wenfEr @ =fee 2

(a) Name two safety measures commonly used in an electric circuit and appliances.
(b)  What precaution should be taken to avoid the overloading of domestic electric circuits

24 Wmmﬁw%?ﬁﬁqﬁmwﬁ@mlﬁﬁtﬁgﬂw@m@ﬁ%
RV S~ GBI &1 1 STEAFH F b o T opampanmd 1 darg # aof sifee |

What are magnetic field lines ? List three characteristics of these lines. Describe in brief an
activity to study the magnetic field lines due to a current carrying circular coil.

TT-& / SECTION - B
25 UM grsat & e faereEl 6 9 fRaeR pH A |l 51 8 ?

(a) a1 NaOH by =
(c) 93 NaHCO3 (d) dgHC
Which one of the following solutions of equal coricentration will have lowest pH value ?
(@)  dil. NaOH (b)  water
(¢  dil. NaHCOs3 (d) dil. HCI.
26  9fe a1y il § NaOH firen fean sy, @ v faeam &1 pH & -
(@) >7 ()., =%, i) 7 (d 0
If NaOH is added to distilled water the, pH of new solution will be :
(@ >7 (bY - 1oV b ey o2 (d O

27 qmw%agua@hﬁmaﬁaﬁmﬁrmmﬁ%mﬁﬁtﬁq\ﬁmm@m%mﬁmm
forar1 g Yeqor g 6 wsSoT -
(@ T iR e 2 (b) g T R
() ¥ ST g (d) Suffafes wsft o
A student performed reaction between dil. HCl and zinc granules and noted the properties of
- evolved hydrogen. Coirect observations would be that hydrogen is :
(@)  colourless and odourless (b)  lighter than air

(c) almostinsoluble in water  (d)  all the above properties
28 Zn, Cu, Fe 3R Al | “rexit Wfshan &1 Hel 9 ¢ :

(@ Al>Zn>Fe>Cu (b) Zn>Al>Fe>Cu
(c) Al>Fe>Zn>Cu (d Zn>Fe>Al>Cu
The correct order of decreasing reactivity of Zn, Cu, Fe and Al is :
(a) Al>Zn>Fe>Cu (b) Zn>Al>Fe>Cu
(c) Al>Fe>7Zn>Cu (d) Zn>Fe>Al>Cu

29 UefutEm ¥ O O ghe e gothe & faeraT § T T | Fw e ge
(a)  Torera ol gewt 0 T e B T SR 9% VR ©

Page 6 of 10 %L A O A

2 B Bt
O 4 :
. -

Downloaded from Q http //Jsunlltuto\TaI weebly. comi C’g o0 0 Page No. 6
\

un

(Y



30

31

. \
Downloaded from http://jsuniltutorial.weebly.com/ Page No. 7

JSUNIL TUTORIAL

(b)  TacTE 1 e & T @ 1
(c) Tocra =1 Tem w0 T e & )

(d)  foer 1 e &0 T @ &

A few small pieces of aluminium metal were added to ferrous sulphate solution. It was

observed that :

(a)  Pale green colour of solution disappears, and it becomes colourless,
(b)  Pale green colour of solution persists.

()  Pale green colour of solution turns blue.

(d)  Pale green colour of solution turns red.

G W T T STER <yl 1 Aviizem § weiifom feran ma ) 1
+ =
130 120
H—C)
5V K
12 O wfeiy % feii & sit= faseia &m .
@ 6V (b) 24V © 28V (d 12V

Two resistances are connected in series as shown in the diagram.

130
Hi
5V !
The potential difference across 12 Q) resistor will be : |
(@ 6V b) 24V (€ 28V d) 12V

TEshT H HAfer & wfeiel Ry a1 R, H1 g wRy it w0 ¥ g Uit ag deedim @ 1
Hefifsd foran mn &1 welhorm &1 ot fafu &
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An ammeter and voltmeter are connected to calculate equivalent resistance when two
resistors Ry and R, are connected in parallel. Correct method of connection is :

4»@»» +®_
2 b ) B
Ry :
J § Ry
—she g e :
" II %
sy
P i
VY ,l.‘_,zq.
<GP
+1 U
® .
L ¥
HHs (v L o
IT1 IV

(@ I (b) I o - Hiwr (d) IV
32 Leaf of a destarched plant was covered on both sides, as shown in figure below. After 1
bleaching and starch test, which of the following options is the correct observation :

P - i) i oo Yo
1] Opaque Blue White Cireen
red paper Ll
%
! Cireen Bl
soalle -
paper
| R
(A} B} © o)
PN S S L S
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33 "YEHA & TRA CO, STUIST Bl €' WM &+ YA |, @ =7 & sl 1 TanT =& 2rar F4ifE - 1
() 9 YEEA & SRA O, I FW |
(b)  © WeRIY HEATY] & I |
() @ 8T T Fw |
(d) © ¥EEA Hd § dfehT CO, qU10, S Iegfsid & ¥ |
In the experiment to show that ‘CO, is released during respiration,” dry gram seeds are not
used because :
(a) they release O, during respiration
(b) they do not photosynthesis
(c) they do not respire
(d)  they respire but release both CO, and O,
34 fafs=1 o T TEmEfTR sifufsransti @1 stemm w3 % fae e =i fret 9o 9 w9 § Rumy 2
IR Hethe, Htd Hethe, Hfsam wethe Afad Feige s 1 1 e & @ fafy |
To study the different types of chemical reactions following salts in solid forms are given' to

the students : copper sulphate, ferrous sulphate, sodium sulphate, barium chloride. Write the
colour of the above salts.

35 Sl % FE o1 e T % T T 9 ¥ U Uiy e A sieedie @ik Ui % wemim 2

e fa

favaiat (v) (aiee 9): 1.0 [4.00 | 6.00 [8.00 [10.0
0

ferega om (1) (Y ) - 10 [20 [30 [50 |80

(i)  Vags &= 9 gl
(i) T BRI MY S H AH TG B FRd € 2
To verify ohm's law a student prepared a circuit and took the readings in Voltmeter nad

Ammeter.
Potential difference (V) (in Volts) : 1.0 |4.00 | 6.00 | 8.00 | 10.0
0

Electric current (I) (in m: Amperes): [10 [20 |30 |50 |80
(i) Draw the graph between V and L
(ii)  From the graph can you verify ohm's law ?

36 Sfae A udil @ feed] ¥ SR SR F Y0 GeRd S I= vk f R sw S yER 2

gl KRR <& | SE% gR1 Afe sifvrmsdi & 7w fafaw

David observed temporary mount of a leaf peel under the higl"m power of microscope. He
found two types of nucleated cells. Name the cells observed by him.
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